Chemistry 11 Name: NU\—Q
Solution Chemistry I Date:

1. Molarity
2. Dilutions
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Practice 1.
What is n of NaCl in a solution containing 5.12.g of NaCl in 250.0 mL of solution?
(0.350 M Na
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Block:

Practj .
Whgt mass of NaOH ig contained in 3.50 L of 0.200 M NaOH? (28.0 g NaOH)
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Practice 3.

How many moles of AlClz gre contained in 350.0 mL of 0.250 M AlCls? (0.0875 mol AICl3)
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| Dilutions

|
o l o - i; n = number of moles (FGCH Q|¢-S >

C L. B V = volume

c= ola ﬂ+:] = concentration
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The amount of the chemical (number of moles and mass) does not change - only the concentration.

Therefore, n; = n;

( mol)
Sincen;=c;1xV: and nz=c2xV; X k
Because.... /k

Therefor%ﬁm XxVi=c2xV; | / %

If 200.0 mL of 0.500 M-NaCl is added to 300.0 mL of water, what is the resulting [NaCl] in the mixture?
(0.200 M NaCl) _
C, =0.500M

Example 1:

C|\/|=C2\jz
V= Q00 .0 L (O.SOO‘B (’100, Q> = (C;\(SOO.(%
C,= 7

o0 O.
\/Z_zgzoo.()S-L?:OO.O CZ= CO'?EO\Z(.Zoi 03: 0’23(3\:1
\];:\}/( of 12.;“.4 Naog {s?egzide in order to prepare 3.00 L of 0.750M NaOH? (0.188 L NaOH)
C\=|2.0M C\\J\=C2Vx
v =7 (12.0)(v)) = (6750) (3.00)
C, =0.750M v, = (0.7505(3.003:7) "™
V2=3 0g) (12.8) | NaOH

Example 4:
When 350.0 mL of 0.256-M MgCl; is boiled down to a final volume of 275.0 mL, what is

' ~of the
MgCl; in the resulting solution? (0.318 M MgCl;) _
C, = O 250™M C\Vy = C2V2

Vv, = 350 OmL (0.250\('&50.0} = (¢,) (275.0)
| - C. = (0.250)(250.0)

Cz= ‘ (2795.0)

Voo = Q75 0mL

—

=10.218 M'*QC\z




